
 
54

 

 
e.

51
,2

0 

 180 

ART. 14312E

SUKUZI GSX-S 1000 S KATANA

SLIP-ON - LV PRO - CARBON - APPROVED 

Strap in S.s.Ø53
Cod.300053531

2Plain washer 
6.4 x 14   

Cod.205833

Knurled collar nut 
M8 Cod.200298

Aluminium spacer
ø27X8.5X13 
Cod. 204321

Allen screw M8X50 
T.C.E.I. Z.B. 
Cod.200461

LV PRO silencer Carbon 
Øi 54 X 180 RHS
Cod.3014312481

E13  92R - 01 10405

4x graphite gasket
5.9 x 14 x 1.5  

Cod.206367

2 x Allen screw M6x14 
T.B.E.I.  
Cod.204643

Use original  bushing 
51 x 45

Carbon cover  
Cod.0814271001

ORIGINAL footpegs
and silent block 

Mounting plate M6
Cod.204664

 1
15

 

 100 

Db-killer N°52B
Cod.308437801

Allen screw
M8X45 T.B.E.I. Z.B. 
Cod.206783
S.s.bushing
Cod.206468

Nut M8 
Cod.206718

Plain washer 
8x 17   

Cod.200294

Original footpegs

FOOTPEG ASSEMBLY


	DT-14312E
	Vista del disegno1
	Vista del disegno2
	Vista del disegno3


